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chapter thirty-FIVE

Labor Market Issues:
Unionism, discrimination,
and Immigration

CHAPTER OVERVIEW

This chapter focuses on three important labor market issues: unionism, discrimination, and immigration.  Although not necessarily related to one another, each issue is significant in its own right.  Instructors may choose to treat the three topics selectively without any loss of continuity.

The first part of the chapter looks at labor unions.  We first see who belongs to unions, examine collective bargaining, and discuss the reasons for unionism’s recent decline.  Then we assess the affect of unions on wages, efficiency, and productivity.  Second, we discuss the types and costs of discrimination, economic theories of discrimination, and current antidiscrimination policies. The last part of the chapter examines immigration:  the inflow of people (workers) to the United States from abroad.  Here we focus on the size of both legal and illegal immigration and its economic effects.

WHAT’S NEW

In the previous edition, this was chapter 36; it is now chapter 35.  Besides the renumbering of the chapter and updating some of the statistics, there are very few changes from the previous edition.

The Web-Based Questions are new.

INSTRUCTIONAL OBJECTIVES

After completing this chapter, students should be able to:

1.     Identify the industries and occupations with the highest percentage of union members.

2.     Identify two factors that have led to the decline of unionism.

3.     List and explain the major clauses in a work agreement.

4.     Summarize/evaluate positive and negative views of union influence on efficiency and productivity.

5.     Describe four types of labor market discrimination.

6.     Illustrate graphically the cost of discrimination.

7.     Explain how an employer’s taste-for-discrimination is reflected in the value of “d,” the discrimination coefficient.

8.     Give two examples of statistical discrimination.

9.     Explain the crowding model of occupational discrimination.

10.     List three major antidiscrimination laws and policies that involve direct government intervention.

11.     Contrast and evaluate the views of supporters and opponents of affirmative action.

12.     Illustrate graphically the predicted economic effects of migration, and then discuss four complications relevant to this model.

13.     Define and identify terms and concepts listed at the end of the chapter.

COMMENTS AND TEACHING SUGGESTIONS

1.     The three topics in this chapter may be treated or may be introduced earlier in combination with the chapter on wage determination, or the section on immigration could be included with the international trade topics.

2.     All three of these topics lend themselves well to lively class debates.  They are also good topics for outside speakers, especially in urban areas where union representatives are available to talk to classes, and civil rights and women’s organizations or state/city equal opportunity agencies have speakers.  Recent concerns over the economic impact of immigrants in several states have received much publicity, and many reports have been published, which provide contradictory evidence on this issue.  The text provides a framework for further study on each of these issues.

3.     In discussing collective bargaining, stress that: (a) It is a process of decision making with a system of consistent work rules.  It is not simply a wage bargain.  (b) Although public attention is focused only on the negotiations phase, the result is an agreement that determines working conditions over a period of time, usually one to three years.  (c) Most labor agreements contain no‑strike clauses during the life of the agreement.  In exchange, a grievance procedure is established.  (d) Business firms have the certainty of knowing what their wage rates will be, what their competitors’ wage rates will be, and that there will be no work stoppage during the contract period.  This reduction in uncertainty helps productivity.

4.     The AFL‑CIO has an Education Department that publishes materials on the labor movement and labor issues that are suitable for use in a principles course.  Most are free or very low in cost.  Write AFL‑CIO Dept. of Education, 815 Sixteenth St., NW, Washington, DC, 20006 (Ph. 202‑637‑5000).  The AFL-CIO has a website that provides information on many topics of concern to organized labor.

STUDENT STUMBLING BLOCK

The potential stumbling block in this chapter is that of preconceived ideas about the economic impact of unions, discrimination, and immigration.  This chapter presents a brief overview of some of the facts, but by no means gives a comprehensive picture of these three topics.  Further reading is advised.

LECTURE NOTES

I.
Unionism in America

A.
About 13.5 percent (16 million) U.S. workers belong to unions; most of the unions are voluntarily affiliated with the American Federation of Labor and Congress of Industrial Organizations (AFL-CIO).  (Global Perspective 35-1 compares U.S. union members with other industrialized nations.)

B.
In the United States, unions have generally adhered to a philosophy of business unionism.

1.
Concerned with the practical short-run economic objectives of higher pay, shorter hours, and improved working conditions.

2.
Union members have not organized into a distinct political party.

C.
The likelihood of union membership depends mainly on the industry:  Membership is high in government, transportation, construction, manufacturing and mining; low in agriculture, finance, insurance, real estate, services, wholesale and retail trade.  (See Figure 35.1a and b)

D.
The decline of unionism.

1.
Since the mid-1950s union membership has not kept pace with the growth of the labor force.  Union membership has declined both absolutely and relatively.

2.
The structural-change hypothesis says that changes unfavorable to union membership have occurred in both the economy and the labor force.

a.
Employment patterns have shifted away from unionized industries.  Consumer demand has shifted from unionized U.S. producers of manufactured goods to foreign producers.  Also demand has shifted from highly organized “old-economy” unionized firms to “high-tech” industries.

b.
A higher proportion of the increase in employment recently has been concentrated among women, youths and part time workers; groups that harder to organize.

c.
A geographic shift of industrial location away from the northeast and midwest (traditional union country) to the south and southwest.

d.
Union success in gaining higher wages for their workers may have given employers an incentive to substitute away from the expensive union labor in a number of ways.

i.
Substituting machinery for workers,

ii.
Subcontracting more work to nonunion suppliers,

iii.
Opening nonunion plants in less industrialized areas, and

iv.
Shifting production of components to low-wage nations.

E.
Relatively high-priced union produced goods would encourage consumers to seek lower-cost goods produced by non-union workers.

F.
The managerial-opposition hypothesis argues that union firms are less profitable than nonunion firms.

1.
One aggressive managerial strategy has been to employ labor-management consultants who specialize in mounting anti-union drives.

2.
Confronted with a strike, management is more likely to hire permanent strikebreakers.

3.
Management may also improve working conditions and personnel policies to discourage union organization.

II.
Collective Bargaining

A.
The goal of collective bargaining is to establish a “work agreement” between the firm and the union.

B.
Union status and managerial prerogatives.

1.
In a closed shop, a worker must be (or become) a member of the union before being hired.  This is illegal except in transportation and construction.

2.
In a union shop, an employer may hire nonunion workers, but they must join in a specified period of time.

3.
An agency shop requires nonunion workers to pay dues or donate a similar amount to charity.

4.
Twenty states have right-to-work laws that prohibit union shops and agency shops.

5.
In an open shop, the employer may hire union or nonunion workers.  Workers are not required to join the union or contribute; but the “work agreement” applies all worker – union and nonunion.

6.
Most work agreements contain clauses outlining the decisions reserved solely for management; these are called managerial prerogatives.

C.
The focal point of any bargaining agreement is wages and hours.  


1.
The arguments most frequently used include for wage increases are:

a.
“What others are getting”;

b.
Employer’s ability to pay based on profitability;

c.
Increases in the cost of living; and

d.
Increases in labor productivity.


2.
In some cases, unions win automatic cost-of-living adjustments (COLAs).


3.
Hours of work, voluntary and mandatory overtime, holiday and vacation provisions, profit sharing, health plans, and pension benefits are other contract issues.

D.
Unions stress seniority as the basis for worker promotion and for layoff and recall and sometimes seek means to limit a firm’s ability to subcontract work or to relocate production facilities overseas.

E.
Union contracts contain grievance procedures to resolve disputes.

F.
The bargaining process.

1.
Collective bargaining on a new contract usually begins about 60 days before the existing contract expires.

2.
Hanging over negotiations is the “deadline” which occurs at the expiration of the old contract, at which time a strike (union work stoppage) or a lockout (management forbids workers to return) can occur.

3.
Bargaining, strikes and lockouts occur within a framework of Federal labor law, specifically the National Labor Relations Act (NLRA).

III.
Economic Effects of Unions

A.
The union wage advantage is verified by studies that suggest that unions do raise the wages of their members relative to comparable nonunion workers; on average, this pay differential over the years is estimated to have been about 15 percent.

1.
The overall average level of wages of all workers has probably not been affected by unions (Figure 35.2).

2.
Union workers seem to gain at the expense of nonunion workers.

3.
Real wages overall still depend on productivity.  (See Figure 28.1)

B.
Efficiency and productivity are affected both positively and negatively by unions.

1.
The negative view has three major points.

a.
Featherbedding and work rules make it difficult for management to be flexible and to use their workers in the most efficient ways.

b.
Strikes, while rare, do constitute a loss of production time and affect certain industries more than others.

c.
Labor misallocation might occur as a result of the union wage advantage, but studies suggest that the efficiency loss is minimal—perhaps only a fraction of one percent of U.S. GDP.

2.
The positive view has three major points as well.

a.
Managerial performance may be improved when wages are high because managers are forced to use their workers in more efficient ways.  This is called the shock effect.

b.
Worker turnover may be reduced where workers feel they can voice dissatisfaction and have some bargaining power.

c.
Seniority promotes productivity because workers do not fear loss of jobs, and informal training may occur on the job because workers do not compete with one another in a seniority‑based system.

3.
Research findings have been mixed.  Some have found a positive effect of unions on productivity, while an almost equal number have found a negative effect of unions on productivity.

IV.
Labor Market Discrimination

A.
We saw in Chapter 34 that blacks, Hispanics, and women bear a disproportionately large burden of poverty.  Their low incomes are a result of the operation of the labor market, and this includes the impact of discrimination.

B.
Economic discrimination occurs when female or minority workers, who have the same abilities, education, training, and experience as white male workers, are accorded inferior treatment with respect to hiring, occupational access, promotion, or wage rate.  Table 35.1 provides data suggesting the presence of racial discrimination.

C.
Types of discrimination.

1.
Wage discrimination occurs when minority workers or women are paid less than white males for doing the same work.  This practice violates Federal law, but it can be subtle and difficult to detect.

2.
Employment discrimination takes place when women or minority workers receive inferior treatment in hiring, promotions, layoffs, or permanent discharges.  This type of discrimination also includes sexual and racial harassment.

3.
Occupational discrimination occurs when women or minority workers are arbitrarily restricted or prohibited from entering the more desirable, high-paying occupations.  Historically, craft unions have effectively barred blacks from membership and, thus, from employment.

4.
Human-capital discrimination occurs when investments in education and training are less and inferior to that of whites.

D.
Cost of discrimination.

1.
Discrimination does more than simply transfer benefits from women, blacks, and Hispanics to men and whites; where it exists, discrimination actually diminishes the economy’s output and income.

2.
The effects of discrimination can be depicted as a point inside the economy’s production possibilities curve.  (See Figure 35.3)

3.
Rough estimates suggest the U.S. economy would gain $325 billion per year by eliminating racial and ethnic discrimination and $180 billion per year by ending gender discrimination.

V.
Economic Analysis of Discrimination

A.
Taste-for-discrimination model.

1.
The model assumes that, for whatever reason, prejudiced employers experience a subjective and psychic cost—a disutility—whenever they must interact with those they are biased against.

2.
The amount of this cost is reflected in a discrimination coefficient d, measured in monetary units.

3.
The cost of employing the preferred worker is the workers wage rate, Ww (in the example the preferred worker is white).

4.
The employer’s perceived  “cost” of employing the worker, against whom he/she is prejudiced (in the example the worker is black) is the black worker’s wage rate, Wb plus the cost of d, or Wb + d.

5.
The prejudiced employer will not refuse to hire blacks under all conditions.  They will, in fact, prefer blacks if the actual white-black wage difference in the market exceeds the value of d.

B.
Prejudice and the market black-white wage ratio.

1.
For a particular supply of black workers, the actual black-white wage ratio will depend on the collective prejudice of white employers.  (See Figure 35.4)

2.
An increase in white employer prejudice, i.e., a decrease in the demand for black workers, reduces the black wage rate and thus the black-white wage ratio.

3.
A decrease in white employer prejudice, i.e., an increase in the demand for black workers,  increases the black wage rate and thus the black-white wage ratio.

C.
The taste-for-discrimination model suggests that competition will reduce discrimination in the very long run.

1.
The actual black-white wage difference for equally productive workers allows nondiscriminating employers to hire blacks for less than whites and, therefore, gain a cost advantage over discriminating competitors.

2.
The lower costs will allow nondiscriminators to underprice prejudiced employers, eventually driving them out of the market.

3.
Critics of the implication of the model note that progress in eliminating prejudice has been modest.  (See Key Question 7)

D.
Statistical discrimination

1.
People are judged on the basis of the average characteristics of the group to which they belong, rather than on their own personal characteristics or productivity.

2.
The firm practicing statistical discrimination is not being malicious in its hiring behavior (although it may be violating antidiscrimination laws).  The decision it makes will be rational and profitable.


a.
In hiring, an employer wants to find the best person for the job, but collecting all of the information on each possible candidate can be expensive.


b.
Employers may reduce the cost of hiring by using the average characteristics of women and minorities in determining whom to hire; the employer is using crude indicators of gender, race, or ethnic background as a measure of production-related attributes.


c.
By reducing hiring costs, the use of statistical discrimination may increase the employer’s profits.

E.
Occupational discrimination can cause crowding or an oversupply of workers in the few occupations that are left to the class of workers experiencing discrimination.  This theory helps to explain the relatively low wages of women relative to men.  (Figure 35.5 explains this in supply and demand diagrams.)

1.
The crowding model illustrated in Figure 35.5 includes the following assumptions:  the number of male and female (or black and white) workers is equal; the economy has three occupations; the two groups of workers have identical labor force characteristics—anyone could fill a position equally well.

2.
There are several effects of crowding.

a.
Wages will be lower in the few occupations where women are not discriminated against because most women are “crowded” into these occupations.  The supply is unnaturally large relative to demand.

b.
Eliminating discrimination will shift women from the low‑wage occupations into higher‑wage occupations, bringing about an equilibrium wage that should be the same in all occupations requiring similar types of workers without respect to gender.


3.
The conclusion is that society will gain from a more efficient allocation of resources when discrimination is abandoned.  (Key Question 9)

VI.
Antidiscrimination Policies and Issues

A.
Government might attack the problems of discrimination in several ways.

1.
Promote a strong economy:  higher wages increase the cost of discrimination, tight labor markets help overcome stereotyping.

2.
Improve the education and training opportunities of women and minorities.

3.
Direct government intervention:  The U.S. government has outlawed certain practices in hiring, promotion and compensation and required government contractors to take affirmative action to ensure that women and minorities are hired at least up to the proportions of the labor force.  (See Table 35.2)

B.
The affirmative action controversy.


1.
Affirmative action consists of special efforts by employers to increase employment and promotion opportunities for groups that have suffered past discrimination and continue to experience discrimination.

2.
Supporters of affirmative action contend that merely removing the discrimination burden does nothing to close the present socioeconomic gap.  


a.
Because of historical discrimination, women and minorities find themselves in an inferior position economically to white men.


b.
The results of past discrimination continue due to seniority layoff plans and inferior education and training of women and minorities.


c.
Something more than equal opportunity, i.e., preferential treatment, is necessary to counter the inherent bias in favor of white men.

3.
Those against affirmative action claim that affirmative action goes beyond aggressive recruitment.


a.
Preferential treatment has forced employers to hire less-qualified women and minority workers.


b.
Preferential treatment, if it causes the hiring of less-qualified women and minority employees, may result in resentment by majority workers who have been passed over for jobs and promotions and reinforce stereotypical views of women and minorities that will negatively affect highly-qualified women and minorities.

C.
Recent developments.

1.
A series of important Supreme Court decisions in 1986 and 1987 upheld the constitutionality of affirmative action programs, but more recent decisions have undermined some specific programs.

2.
In 1996 Congress debated legislation restricting affirmative action, and the Clinton administration halted several Federal programs designed to give preference in Federal contracting to minorities.  Californians voted in favor of a state constitutional amendment ending all state programs that give preferences.

VI.
Immigration

A.
Number of immigrants.

1.
The annual flow of legal immigrants has increased from roughly 250,000 in the 1950s to about 850,000 per year in the 1990s.  About one-third of recent annual population growth in the United States is the result of immigration.  (See Global perspective 35.2)

2.
The Census Bureau estimates the net inflow of illegal immigrants is now about 100,000 per year, most coming from Mexico, the Caribbean, and Latin America.

B.
The economics of immigration.

1.
One theoretical model is a variation of the crowding model of discrimination (Figure 35.5).  The immigration model is portrayed in Figure 35.6.  It assumes that workers migrate from Mexico to the U.S. where technology is more sophisticated and labor demand stronger; it also assumes that full employment exists in both countries.  Theoretically, workers will migrate to the U.S. until wage rates in the two countries are equalized.  The elimination of barriers to immigration should enhance economic efficiency, as workers from low productivity countries move to where they have higher levels of productivity.  U.S. business will benefit from migration while Mexican business will lose as they end up paying higher wages to a diminished supply of workers.

2.
Business incomes in the U.S. should improve and those in Mexico should fall.  America is receiving the “cheap” labor and Mexico loses this “cheap” labor.  This explains why, historically, American employers have sometimes actively recruited immigrants.

3.
Complications and modifications to this model change the conclusions somewhat.

a.
There are costs to migration, so wages will always remain higher in the U.S. as migrants consider the costs compared to the benefits.

b.
Many migrants come temporarily and either return or send money home, which causes a redistribution of the net gain between the countries involved.

c.
Mexico will gain if its unemployed and underemployed migrate to the U.S.  If the migrants become unemployed in the U.S., the U.S. will lose.

d.
Although the fiscal impact of immigrants is debatable, the consensus has been that they are probably net contributors to the fiscal system of the host country.  They are more often young people with skills who are productive and tend not to bring children with them.  On the other hand, immigrants since the 1970s may have lower levels of education and skills and may require several years of public or philanthropic aid to assimilate.  Immigrants now make up 10 percent of the Supplemental Security Income (SSI) rolls as compared with only 3.3 percent a decade earlier.  The 1996 welfare reform denies benefits to new immigrants for their first five years in the United States.  (Key Question 12)

C.
There are two views of immigration.

1.
One view is that economic benefits occur in the host country from young, skilled workers when the economy is robust and growing.

2.
The counterview is that benefits may not occur if immigrants are unskilled and illiterate, and our economy has high unemployment.  Racial problems may be worsened; poverty may increase.

3.
From a strictly economic perspective nations seeking to maximize net benefits from immigration should expand immigration until its marginal benefits equals it marginal costs.  (MB = MC)  There can be too few immigrants as well as too many.

VII:
LAST WORD: Orchestrating Impartiality

A.
There have long been allegations of discrimination against women in the hiring process in some occupations.

B.
The introduction of “blind” musical auditions in which “screens” were used to hide the identity of candidates affected the success of women in obtaining positions in major symphony orchestras.

1.
In 1970 only 5 percent of the members of the top five orchestras in the United States were women.

2.
The change to screens during the audition process increased by 50 percent the probability that a woman would be advanced from the preliminary rounds.

3.
Without the screens about 10 percent of all hires were women, but with the screens about 35 percent were women.

4.
Today about 25 percent of the membership of top symphony orchestras are women.  The screens explain from 25 to 45 percent of the increases in the proportion of women members of the orchestras studied.

5.
Researchers Goldin and Rouse examined information on turnover and leaves of orchestra members for the period 1960-1996 in an effort to determine the cause of past discrimination.

a.
If this was an example of statistical discrimination there should have been a difference in the rate of turnover by gender.  This was not the case.

b.
Instead, the discrimination in hiring seemed to reflect a taste for discrimination by musical directors.  A positive discrimination coefficient d was present; they simply preferred male musicians.

ANSWERS TO END-OF-CHAPTER QUESTIONS

35‑1
Other things equal, who is more likely to be a union member: Stephen, who works as a salesperson at a furniture store, or Susan who works as a machinist for an aircraft manufacturer?  Explain.


Union membership as a percentage of employed wage and salary workers varies considerably from one industry to another.  The union membership of machine operators is much higher than retail sales persons.  Therefore, it is more likely that Susan is a union member than Stephen.  (See Figure 35.1)

35‑2
Contrast the structural-change and managerial-opposition hypotheses as they relate to the decline in unionism.  Which view do you think is more convincing?


According to the first hypothesis, unions’ relative decline in the past thirty years can be attributed to changes in the structure and composition of the American economy and labor force.  There has been a significant shift in demand from the unionized manufacturing sector to the relatively nonunionized service sector.  Domestic consumers have shifted their demand for manufactured products from U.S. firms to foreign producers. There has also been a significant migration of firms and labor from the unionized “Rustbelt” to the relatively nonunionized “Sunbelt.” Finally, women and young people, who have traditionally been difficult to organize, have been increasing their participation in the labor force.  


The second hypothesis focuses on employers’ efforts to become or remain nonunion. Businesses have mounted concerted antiunion campaigns, encouraged decertification elections, and engaged in antiunion tactics that, though illegal, are difficult to prosecute.  Employers have also improved wages and benefits to make the workers less likely to approach a union.


While the factors highlighted by the managerial‑opposition hypothesis are no doubt relevant in many instances, the first hypothesis would seem to be a more valid explanation.  While managerial antiunion activity is important, particularly in certain industries, economy‑wide structural changes are continuous and wide‑ranging.  

35‑3
Suppose that you are the president of a newly established local union about to bargain with an employer for the first time.  List the basic areas you would want covered in the work agreement.  Why might you begin with a larger wage demand than you actually are willing to accept?


Areas to be included in a work agreement:

1.
Wage rates with automatic increases over time, preferably in the form of a cost‑of‑living adjustment

2.
Regulations governing hours of work which ensure employees are entitled to paid vacation time and the choice to engage in overtime work at a substantial premium

3.
A liberal fringe‑benefits package provided by the firm, including pension plans and job security provisions

4.
Rules governing promotions, layoffs and recalls that are based on worker seniority

5.
A stipulated grievance procedure with mandatory union participation in rulings.

6.
A provision that requires all worker to join or monetarily support the union.


Asking for a higher-than-expected wage increase is a tactical decision.  The law requires that bargaining must occur.  The higher-than-expected-wage demand allows for the give-and-take of bargaining and for compromises in other areas of the initial proposal.

35‑4
(Key Question) What is the estimated size of the union wage advantage?  How might this advantage diminish the efficiency with which labor resources are allocated?


Fifteen percent.  The higher wages that unions achieve reduce employment, displace workers, and increase the marginal revenue product in the union sector.  Labor supply increases in the nonunionized sector, reducing wages and decreasing marginal revenue production there.  Because of the lower nonunion marginal revenue product, the workers added in the nonunion sector contribute less to GDP than they would have in the unionized sector.  The gain of GDP in the nonunionized sector does not offset the loss of GDP in the unionized sector so there is an overall efficiency loss.

35‑5
Explain the logic of each of the following statements:

a.
By constraining the decisions of management, unions inhibit efficiency and productivity growth.

b.
As collective-voice institutions, unions increase productivity by reducing worker turnover, inducing managerial efficiency, and enhancing worker security.

(a)
Unions can and do inhibit efficiency in several ways.  Featherbedding, regulations that force firms to promote on the basis of seniority rather than productivity, and rules barring particular employees from engaging in tasks they could perform most productively, all decrease productive efficiency.  More generally, the existence of a union in the workplace can restrict the firm’s use of productivity‑enhancing techniques.  Furthermore, work stoppages decrease production directly and can adversely affect other industries or sectors, although such disruptions are relatively infrequent.  Finally, the fact that wages in unionized sectors are higher than those in nonunionized sectors can mean that the marginal revenue products in these sectors differ.  Total output would be increased if these wage differentials were eradicated.

(b)
Unions can provide a convenient voice mechanism for workers, enhancing the resolution of worker grievances with management and decreasing employee turnover.  Some empirical evidence suggests the presence of unions plays a significant role in reducing worker turnover.  Managerial efficiency can be enhanced through the effects of wage increases and higher production costs brought on by unionization.  Finally, by enhancing security of employment and decreasing competition for particular jobs, unions encourage informal on‑the‑job training of newer workers by senior employees.

35‑6
Explain how discrimination reduces domestic output and income.  Demonstrate this loss using production possibilities analysis.


Discrimination actually diminishes the economy’s output and income; like any other artificial barrier to free competition, it decreases economic efficiency and reduces production.  It arbitrarily blocks certain groups of people from making their maximum contribution to the economy’s output.


Discrimination represents a failure to achieve productive efficiency, on the production possibilities curve.  The cost of discrimination to society is the sacrificed output associated with a point such as D inside the nation’s production possibilities curve, compared with points such as X, Y, and Z on the curve.
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35-7
(Key Question)  The labor demand and supply data in the following table relate to a single occupation.  Use them to answer the questions that follow.  Base your answers on the taste-for-discrimination model.


	
	
	

	Quantity of

Hispanic labor

demanded,

thousands
	Hispanic

wage

rate
	Quantity of

Hispanic labor

supplied,

thousands

	
	
	
	

	
	
	
	

	24

30

36

42

48
	$16

14

12

10

8
	
	52

44

36

28

20

	
	
	
	


a.
Plot the labor demand and supply curves for Hispanic workers in this occupation.

b.
What are the equilibrium Hispanic wage rate and quantity of Hispanic employment?

c.
Suppose white wage rate in this occupation is $16.  What is the Hispanic-to-white wage ratio?

d.
Suppose a particular employer has a discrimination coefficient d of $5 per hour.  Will that employer hire Hispanic or white workers at the Hispanic-white wage ratio indicated by part c?  Explain.

e.
Suppose employers as a group become less prejudiced against Hispanics and demand 14 more units of Hispanic labor at each Hispanic wage rate in the table.  What are the new equilibrium Hispanic wage rate and level of Hispanic employment?  Does the Hispanic-white wage ratio rise or fall?  Explain.

f.
Suppose Hispanics as a group increase their labor services in this occupation, collectively offering 14 more units of labor at each Hispanic wage rate.  Disregarding the changes indicated in part e, what are the new equilibrium Hispanic wage rate and level of Hispanic employment?  Does the Hispanic-white wage ratio rise, or does it fall?

(a)
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(b)
The equilibrium Hispanic wage rate is $12; the equilibrium quantity of Hispanic employment is 36,000 workers.

(c)
The Hispanic-to-white wage ratio is .75       (= $12/$16).

(d)
The employer will hire only white workers because the $5 discrimination coefficient exceeds the $4 difference between the wage rates of whites and Hispanics.

(e)
The new equilibrium Hispanic wage rate is $14 and the new equilibrium quantity of Hispanic employment is 44,000 workers.  The Hispanic-white wage ratio rises to .875 (= $16/$14) because of the increased demand for Hispanic labor in relation to the unchanging supply of Hispanic labor.

(f)
The new equilibrium Hispanic wage rate is $10 and the new equilibrium quantity of Hispanic employment is 20,000.  This Hispanic-white wage ratio falls to .625 (= $10/$16).

35‑8
Males under the age of 25 must pay far higher auto insurance premiums than females in this age group.  How does this fact relate to statistical discrimination?  Statistical discrimination implies that discrimination can persist indefinitely, while the taste-for-discrimination model suggests that competition might reduce discrimination in the long run.  Explain the difference.


Statistical discrimination occurs when people are judged on the basis of the average characteristics of the group to which they belong.  Insurance companies base auto insurance premiums on the statistical information available, and the consequent discrimination will continue as long as there is a difference in accident rates by gender in this age group.


The taste-for-discrimination model suggests that competition will reduce discrimination in the long run.  Firms that do not discriminate will have lower actual wage costs per unit of output and lower average total costs than will the firms that discriminate.  These lower costs will allow nondiscriminating firms to charge lower prices.  This should eventually drive the discriminating firms out of the market.

35-9
(Key Question)  Use a demand and supply model to explain the impact of occupational segregation or “crowding” on the relative wage rates and earnings of men and women.  Who gains and who loses from the elimination of occupational segregation?  Is there a net gain or net loss to society?  Explain.


See Figure 35-5.  Discrimination against women in two of the three occupations will crowd women into the third occupation.  Labor supply in the “men’s occupations” (X and Y) decreases, making them high-wage occupations.  Labor supply in the “women’s occupation” (Z) increases creating a low-wage occupation.


Eliminating occupational segregation would entice women into the high-wage occupations, increasing labor supply there and reducing it in the low-wage occupation.  The wage rates in the three occupations would converge to B.  Women would gain, men would lose.  Society would gain because the increase in output in the expanding occupations would exceed the loss of output in the contracting occupation.

35‑10
“Current affirmative action programs are based on the belief that to overcome discrimination, we must practice discrimination.  That perverse logic has created a system that undermines the fundamental values it was intended to protect.”  Do you agree?  Why or why not?


Supporters of affirmative action argue that job discrimination is so pervasive that it will persist for decades unless preferential treatment is extended to job applicants who are members of the groups subject to past discrimination.  Critics say that quotas and preferential treatment are a form of reverse discrimination.  To show preference for A is to discriminate against B.


The nature of a market economy includes competition for the best jobs.  Government cannot possibly insure equal outcomes for all individuals in the economy.  Attempting to do so would require a degree of government control that would approach central planning and destroy important incentives that promote productivity.  A better course of action would be to improve opportunities for disadvantaged groups by supporting additional education and training to level the playing field.  While government cannot insure equal outcome, it can contribute greatly to equal opportunity.

35-11
Suppose Ann and Becky are applicants to your university and that they have identical admission qualifications (SAT score, high school GPA, etc.).  Ann is black, growing up in a public housing development; Becky is white, growing up in a wealthy suburb.  You can admit only one of the two.  Which person would you admit and why?  Now suppose that Ann is white and Becky is black, all else equal.  Does this change your selection?  Why or why not?


The real issue in this question is not the color of the applicant, but the advantages or disadvantages the students have had during their high school preparation.  If the two applicants are equal in other respects, the student growing up in a public housing development should be selected, rather than the student from the wealthy suburb.

35‑12  (Key Question)  Use graphical analysis to show the gains and losses resulting from the migration of population from a low-income country to a high-income country.  Explain how your conclusions are affected by (a) unemployment, (b) remittances to the home country, (c) backflows of migrants to their home country, and (d) the personal characteristics of the migrants.  If the migrants are highly skilled workers, is there any justification for the sending country to levy a “brain drain” tax on emigrants?


See Figure 35.6.  Migration of labor from the low- to high-income country increases labor supply in the high-income country and decreases it in the low-income country.  Wages are equalized at We.  Output and business income increase in the receiving country; decline in the sending country.  World output increases:  The output gain in the receiving country exceeds the output loss in the sending country.


(a)  The gains to the receiving country will not materialize if the migrants are unemployed after they arrive; there may be gains in the low-income country if the immigrant had been unemployed prior to moving.  (b)  Remittances to the home country will decrease the income gain in the receiving country and reduce the income loss in the sending country.  (c) If migrants who return to their home country have enhanced their skills, their temporary departure might be to the long-run advantage of the home country.  (d) Young, skilled migrants will increase output and likely be the net taxpayers in the receiving country, but the sending country will experience a “brain drain.”  Older or less skilled workers who are not so easily assimilated could be net recipients of government services.


In view of the sometimes large investments which sending countries have made in providing education and skills, there is a justification for levying a departure tax on such migrants.  But if this tax were too high, it would infringe on a basic human right:  the right to emigrate.

35-13
If a person favors the free movement of labor within the United States, is it then inconsistent to also favor restrictions on the international movement of labor?  Why or why not?


If one is just as concerned with the economic well‑being of citizens of foreign countries as one is with the welfare of one’s national compatriots, then to argue for free labor mobility nationally but not internationally is logically inconsistent.  Arguments in favor of restrictions on international labor mobility take account of the fact that immigration can lead to a loss of income for some domestic residents.  While total output in the host country is increased, wage rates will fall, hurting laborers already working in that country.  The loss of economic welfare for these individuals is often considered to be more important than the benefits accruing to businesses and the migrants themselves, even though the total benefits exceed losses in the host country.

35‑14
Evaluate:  “If the United States deported, say, 1 million illegal immigrants, the number of unemployed workers in the United States would decline by 1 million.”


This statement is false.  The presence of illegal aliens supplements aggregate expenditure in the economy.  If 1 million were deported, total spending would fall, decreasing the demand for labor and creating less than 1 million available positions.  Furthermore, it is possible that workers will not be found to fill all these jobs because of low wages or poor working conditions.  Therefore national unemployment will decline by considerably less than 1 million.

35-15
(Last Word)  What two types of discrimination are represented by the discrimination evidenced in this chapter’s Last Word?


The two models of discrimination discussed were taste-for-discrimination and statistical discrimi​nation. Economists Claudia Goldin and Cecilia Rouse examined evidence of discrimination in hiring musicians for major symphony orchestras.  If the past discrimination in hiring was an example of statistical discrimination, they would expect to observe a higher turnover rate among women.  Since this proved not to be the case, the evidence suggests that male musical directors had a taste for discrimination.
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